Notice for appointment of Regular / Rural Retail Outlet Dealerships

Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in the state of West Bengal, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens of the site			arranged by the plicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	From Gopiballavpur police station to the intersection with NH-49 at Sardiha (Feko more) on SH-9	JHARGRAM	Regular	150	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
2	Between Cheko Bridge , Chaprarpar and Birpara on New Bypass Road	ALIPURDUAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3	Within 5 Kms from Kotasur on SH-11	BIRBHUM	Regular	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
4	From West Bengal - Jharkhand border near Hatibari to the intersection with SH- 19 at Ashui on Hatibari Road	JHARGRAM	Rural	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
5	BETWEEN CHALSA TO MATELI POLICE STATION ON MATELI - SAMSING ROAD	JALPAIGURI	Rural	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
6	With in 2 Kms From Champadanga more towards Tarkeswar on LHS on SH2 (Connecting Arambagh - Baidyabati)	HOOGHLY	Regular	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
7	Between Maheswarpur Bridge(Crossing of NH-19 & Chinchura Dhaniakhali road) & Basipur bridge on LHS of the NH-19	HOOGHLY	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
8	From Sugandha more to Delhi Road More on RHS of SH-13 (Delhi Road)	HOOGHLY	Regular	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
9	With in 2 Km from Tarekeswar Fire Office towards Basudevpur on RHS of SH2 (Connecting Arambagh - Baidyabati)	HOOGHLY	Regular	100	Open	DC	25	25	625	32	75	Draw of Lots	15	5
10	Between Chanditala II BDO Office and Bank of india - Duttapur Branch both side on SH -15 (Connecting Chapadanga- Eksara)	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
11	Within Uttarpada municipalty limits on any Main Road	HOOGHLY	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
12	Within 8 KMs from Crossing of NH-19 - Delhi road on LHS of the NH-19	HOOGHLY	Regular	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	Within 5 Kms from Crossing of Delhi road & Road no 31 on LHS towards Dankuni on SH13 (Delhi Road)	HOOGHLY	Regular	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
14	Between Modina Bus Stand and Khatul Market on SH-2 (Connecting Arambagh - Baidyabati)	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
15	Within Rishra municipalty limits on any Main Road	HOOGHLY	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
16	Within 2 km from Mayapur 2 Gram Panchayat office towards Arambagh on SH2 (Connecting Arambagh - Baidyabati)	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
17	Within Chandannagar municipalty limits on any Main Road	HOOGHLY	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
18	Within Baidyabati municipalty limits on any Main Road	HOOGHLY	Regular	100	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
19	Within Bansberia municipalty limits on any Main Road	HOOGHLY	Regular	150	Open CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
20	From Kamarpukur choti to Garmandaron bridge on SH-7 (Connecting Burdwan- Arambagh-Goghat)	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
21	Within 8 KMs from Crossing of NH-19 - Delhi road on RHS of the NH-19	HOOGHLY	Regular	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
22	Between Kalipur SH-15 more and Monber Kalitala Board Primary school on SH15 (Connecting Chapadanga-Eksara)	HOOGHLY	Regular	100	OBC	DC	25	25	625	32	75	Draw of Lots	15	4

Description Company	ı									1		1	Г	Ι	
	23		HOOGHLY	Regular	250	Open	СС	30	30	900	32	12	Bidding	30	5
Second Company Compa	24	and Sugandha More on LHS of Delhi Road	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
	25	and Sugandha More on RHS of Delhi Road	HOOGHLY	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
22	26	Bridge) of NH19 & SH 2 towards Tarakeswar on SH 2 (Connecting	HOOGHLY	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
	27	& J C Khan Road on LHS towards Dankuni	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
Process Proc	28	(Connecting BURDWAN - Adi Saptagram)	HOOGHLY	Regular	100	Open CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
20 Section Conference (Selegorous) (Sele	29		HOOGHLY	Regular	100	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
1	30	station on SH6 (Connecting BURDWAN -	HOOGHLY	Regular	150	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
22 Seminyahari or 5PT (Convertige Bordams) MOCRETY Regular 100 Open DC 20 30 900 32 75 Graw of Loco 15 5 5	31	towards Sugandha Crossing on LHS on	HOOGHLY	Regular	200	Open	сс	30	30	900	32	12	Bidding	30	5
30 Somburn Foll Reas on 186 Storough 1900CHZ Regular 190 Open OC 25 35 1225 32 99 Draw of Loss 15 4	32	Kamarpukur on SH7 (Connecting Burdwan-	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
Section Sect	33	Dankuni Toll Plaza on RHS towards	HOOGHLY	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
25 Seyand File Market Winth 27 Deep No. 15 5 5 5 5 5 5 5 5	34			Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
20 Disease Total Plazas on List Stowards Designating Total Plazas on List Stowards Designating Total Plazas on List Stowards Designation Total P	35		HOOGHLY	Regular	100	Open	DC	25	25	625	32	75	Draw of Lots	15	5
37 Ayry, towards Guidshard on 9Nh-114 (extrict PM-20)	36	Dankuni Toll Plaza on LHS towards	HOOGHLY	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
38 and 20 on 5H 15, on 8H 50 coards Seahablas Se	37	Ajay), towards Guskhara on NH-114		Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
33 114 and 581+14 a Columbian, towards ModRMANN Regular 100 ST CFS 30 30 900 0 0 Draw of Lots 0 3	38	and 20 on SH 15 , on RHS towards	HOOGHLY	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
40 OPEN 19-0-Beh Frace & Baskylaskat on LFS Form Consisting N MPs Form Detection of MPs on SF11 (Debt Mood) Form Detection of MPs on SF11 (Debt	39	114 and SH-14 at Guskhara, towards Muratipur, on SH-14		Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
41 Delhi road on RHS on SHS (Rehit Road) HOOGHLY Regular 150 OBC DC 30 30 900 32 75 Draw of Lots 15 4	40	of NH19 -Delhi road & Baidyabati on LHS towards mogra	HOOGHLY	Regular	250	Open	СС	30	30	900	32	12	Bidding	30	5
Main Road	41	Delhi road on RHS on SH13 (Delhi Road) towards Mogra		Regular	150	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
Any Sury Mark Road Any Mar	42	main Road		Regular	100	Open CC 1	DC	18	18	324	32	55	Draw of Lots	15	5
44 and SH+ 6 at, Futshanko, on NH-116A ARDHAMAN Regular 150 OBC CC 35 35 1225 32 12 Bidding 30 4	43	any Main Road	HOOGHLY	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
45 Vidyapeeth High School, towards Hematur, or SH-6 Hematur, o	44	and SH- 6 at, Futishanko, on NH-116A (Old SH-7)		Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
According Consisting Lowards Kayrapur on NH-114 Consisting C	45	Vidyapeeth High School, towards Hematpur, on SH-6		Regular	120	Open	DC	30	30	900	32	75	Draw of Lots	15	5
47	46	crossing, towards Kayrapur on NH-114 (earlier NH-2B)		Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Mouza on either side of SH-9	47	upto Karjana Chati Post Office, on NH- 116A (earlier SH-7)		Regular	150	ОВС	сс	35	35	1225	32	12	Bidding	30	4
49 Guskhara on SH-14 upto intersection of SH-14 upto intersection of SH-14 (a NH-114	48	mouza on either side of SH-9	JHARGRAM	Regular	150	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
So	49	Guskhara on SH-14 upto intersection of		Regular	120	Open	DC	30	30	900	32	75	Draw of Lots	15	5
Durgapur Barrage on SH-9 (not on NH-19) BARDHAMAN Regular 150 OBC DC 16 16 324 32 75 Draw of Lots 15 4	50	(Memari-Tarkeshwar road) at Ajhapur to Hooghly district Boarder on NH 19, on		Regular	200	Open	сс	45	45	2025	32	12	Bidding	30	5
St. towards Nandai, on SH-6 BARDHAMAN Regular 120 St. CFS 30 30 900 0 0 0 0 0 0 0 0	51	Durgapur Barrage on SH-9 (not on NH-19)	BARDHAMAN	Regular	150	ОВС	DC	18	18	324	32	75	Draw of Lots	15	4
53 Burdwan and Kamnara BDO Office on NH- PURBA BARDHAMMA Regular 150 Open DC 35 35 1225 32 95 Draw of Lots 15 5	52	towards Nandai, on SH-6		Regular	120	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
54 towards Kolkata on NH-19 (Old NH-2), RHS while travelling towards Kolkata Mithis Kirne of Apphysic Flower towards	53	Burdwan and Kamnara BDO Office on NH- 116A (earlier SH-7)		Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
ES Within 5Kms of Manbazar Chowk towards DUDILLA Popular 100 OPC DU DC 20 20 20 20 20 20 20 20 20 20 20 20 20	54	towards Kolkata on NH-19 (Old NH-2), RHS while travelling towards Kolkata		Regular	150	Open	сс	35	35	1225	32	12	Bidding	30	5
55 Kenda on SH5 PURULIA Regular 100 OBC PH DC 30 30 900 32 /5 Draw of Lots 15 4	55		PURULIA	Regular	100	OBC PH	DC	30	30	900	32	75	Draw of Lots	15	4

Within 4 KMs from Baichi More towards Burdwan on SH13 (Delhi Road)	HOOGHLY	Regular	150	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
Within 15 KM from DSP main Gate flyover, towards Asansol, on NH-19 (Old NH-2),on LHS while travelling towards Asansol	PASCHIM BARDHAMAN	Regular	150	Open	СС	45	45	2025	32	12	Bidding	30	5
From Dhatrigram Post Office to Hooghly	PURBA BARDHAMAN	Regular	150	Open	сс	30	30	900	32	12	Bidding	30	5
Within 15 KMs from PANDABESWAR B.D.O. OFFICE towards Punjabi more on	PASCHIM BARDHAMAN	Regular	200	OBC	СС	35	35	1225	32	12	Bidding	30	4
Within Municipal limits of Purulia on any	PURULIA	Regular	150	Open	DC	20	20	400	32	55	Draw of Lots	15	5
Within 15 KMs from J.C. Bose Institute of Education & Research at Budbud, towards kolkata on NH-19 (Old NH-2), on LHS while travelling towards Kolkata.	PURBA BARDHAMAN	Regular	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between Arrah More and Bhagat Singh More, on Jawahar Lal Nehru Road in Durgapur	PASCHIM BARDHAMAN	Regular	150	Open	DC	18	18	324	32	75	Draw of Lots	15	5
Within 4 KMs of Kusumgram Bus Stand towards Dainhat on SH15	PURBA BARDHAMAN	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
Within 12 KM of Sehara Gram Panchayet office while travelling towards Arambagh on NH-116A (earlier SH-7),	PURBA BARDHAMAN	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Within 5 KM of Akkuta More towards Raipur on Akkuta more to Raipur Road (SH-4)	BANKURA	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
From Kaichar Village to NTPC Project Office at Srikhanda on SH-14	PURBA BARDHAMAN	Regular	150	ОВС	СС	35	35	1225	32	12	Bidding	30	4
Within 4 Kms from the intersection of SH- 6 and SH-8 at Hematpur on SH-6	PURBA BARDHAMAN	Regular	170	Open	СС	30	30	900	32	12	Bidding	30	5
Within 15 KMs from Paraj railway station More (Kolkol More), towards kolkata on NH-19 (Old NH-2), on RHS while travelling towards Kolkata	PURBA BARDHAMAN	Regular	200	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
Between Khakurda police station and	PASCHIM MEDINIPUR	Regular	150	OBC	DC	25	25	625	32	75	Draw of Lots	15	4
Between N T P C Project Office at Srikhanda and Katwa Bus Station on SH- 14	PURBA BARDHAMAN	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
Between Ghatal Basantakumari Girl's High School and Daspur BL&LRO office on SH-4	PASCHIM MEDINIPUR	Regular	160	Open	DC	25	25	625	32	75	Draw of Lots	15	5
Within 10 KM of Balrampur Collage towards Chandil on New NH road, NH-18 (old NH-32)	PURULIA	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Between IIT Kharagpur Prembazar gate and Keshiary busstop on either side of SH- 5	PASCHIM MEDINIPUR	Regular	100	OBC	DC	25	25	625	32	75	Draw of Lots	15	4
Within 5 kms of Masagram Rail Gate Bus Stand on SH-15	PURBA BARDHAMAN	Regular	120	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
Within Kharagpur Municipality limits on any main road	PASCHIM MEDINIPUR	Regular	150	Open	DC	20	20	400	32	55	Draw of Lots	15	5
Between Contai head post office and Junput Sub-post office on either side of SH-5	PURBA MEDINIPUR	Regular	160	Open	DC	25	25	625	32	75	Draw of Lots	15	5
LHS between Poktapul bridge and Griffins International school, Khatranga mouza on NH-16 while travelling from Orissa towards Kharagpur	PASCHIM MEDINIPUR	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Between Maheswarpur Bridge(Crossing of NH19 & Chinchura Dhaniakhali road) & Basipur bridge on RHS of the NH19	HOOGHLY	Regular	200	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
LHS between Lodhasuli flyover and Jharkhand border on NH-49 while travelling from Kharagpur towards Baharagora	JHARGRAM	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
LHS between Kolaghat river bridge and Ratulia busstop on NH-16 while travelling from Kolkata towards Kharagpur	PURBA MEDINIPUR	Regular	200	Open PH	DC	35	35	1225	32	95	Draw of Lots	15	5
Between Chowringhee (Kharagpur) and Godapiasal Charubala Balika Vidyalaya on either side of NH-14 (earlier NH-60)	PASCHIM MEDINIPUR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
LHS From KM stone 145 to KM stone 155 on NH-49 while travelling from Kharagpur towards Baharagora	PASCHIM MEDINIPUR	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
LHS between Jharkhand border and Lodhasuli flyover on NH-49 while travelling from Baharagora towards Kharagpur	JHARGRAM	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between intersection with NH-49 at Lodhasuli and Dahijuri mouza on SH-5	JHARGRAM	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
LHS between Rampura Toll gate and Sonakhania (Orissa border) on NH-16 while travelling from Kharagpur towards Orissa	PASCHIM MEDINIPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
	Burdwan on SH13 (Delhi Road) Within 15 KM from DSP main Gate flyover, towards Asansol, on NH-19 (Old NH-2), on LHS while travelling towards Asansol From Dhatrigram Post Office to Hooghly Disctict Border, on SH-6 Within 15 KMs from PANDABESWAR B.D.O. OFFICE towards Punjabi more on NH-14 (earlier NH-60) Within Municipal limits of Purulia on any Main Road Within 15 KMs from J.C. Bose Institute of Education & Research at Budbud, towards kolkata on NH-19 (Old NH-2), on LHS while travelling towards Kolkata on NH-19 (Old NH-2), on LHS while travelling towards Kolkata on NH-19 (Old NH-2), on LHS while travelling towards Kolkata. Between Arrah More and Bhagat Singh More, on Jawahar Lal Nehru Road in Durgapur Within 12 KM of Sehara Gram Panchayet office while travelling towards Arambagh on NH-116A (earlier SH-7), Within 15 KM of Akkuta More towards Raipur on Akkuta more to Raipur Road (SH-4) From Kaichar Village to NTPC Project Office at Srikhanda on SH-14 Within 4 Kms from the intersection of SH-6 and SH-8 at Hematpur on SH-6 Within 15 KMs from Paraj railway station More (Kolkol More), towards kolkata on NH-19 (Old NH-2), on RHS while travelling towards Kolkata on NH-19 (Old NH-2), on RHS while travelling towards Kolkata on NH-19 (Old NH-2), on RHS while travelling towards Kolkata on NH-19 (Old NH-2), on SH-6 Within 15 KMs from Paraj railway station More (Kolkol More), towards kolkata on NH-19 (Old NH-2), on RHS while travelling towards Kolkata on NH-19 (Old NH-2), on RHS while travelling towards Chandil on New NH road, NH-18 (old NH-32) Between Ghatal Basantakumari Girl's High School and Daspur BL&LRO office on SH-4 Within 10 KM of Balrampur Collage towards Chandil on New NH road, NH-18 (old NH-32) Between Ghatal Basantakumari Girl's High School and Daspur Bl&taRO office on SH-14 Between Ghatal Basantakumari Girl's High School and Daspur Bl&taRO office on SH-5 Between Thomas A Sharagpur Prembazar gate and Keshiary busstop on HH-16 while travelling from Kharagpur bridge on RHS of the NH19 BLHS between L	Burdwan on SH13 (Delhi Road) Within 15 KM from DSP main Gate flyover, towards Asansol, on NH-19 (Old NH-2), on LHS while travelling towards Asansol From Dhatrigram Post Office to Hooghly Disctict Border, on SH-6 Disctict Border, on SH-6 Within 15 KMs from PANDABESWAR BARDHAMAN Within 15 KMs from PANDABESWAR BARDHAMAN Within 15 KMs from PANDABESWAR BARDHAMAN Within 15 KMs from J.C. Bose Institute of Education & Research at Budbud, Chard of Education & PURBA BARDHAMAN Within 15 KMs of Kusumgram Bus Stand towards loninhat on SH15 Within 15 KM of Sehara Gram Panchayet on SH-6 Michael on SH-14 Within 15 KM of Sehara Gram Panchayet on SH-6 Michael on SH-14 Within 15 KM of Sehara Gram Panchayet on SH-6 Michael on SH-14 Within 15 KM of Kusum fore to NTPC Project Office at Srikhanda on SH-14 Within 15 KMs from Paraj railway station More (Kolkol More), towards kolkata on NH-19 (IOIA), on RHS will en travelling towards Kolkata on SH-14 Michin Alma Sanntakumari Girls Between Khakurda police station and Jahalda Sub post office on SH-5 Between NT P C Project Office at Srikhanda and Katwa Bus Station on SH-18 (IOIA) Between Ghatal Basantakumari Girls Between Rhakurda police station and Jahalda Sub post office on SH-5 Between IT Kharagpur Prembazar gate and Keshiary busstop on either side of SH-19 (IOIA) Within 15 kms of Masagram Rail Gate Bus Stand on SH-15 Within 5 kms of Masagram Rail Gate Bus SH-14 Within 10 KM of Balrampur Collage and Griffins International school, Khatranga mouza on NH-16 while travelling from Kharagpur towards Baharagora LHS between Lohash	Burdwan on SH13 (Delhi Road) Within 15 KM from DSP main Gate flyover, towards Asansol, on NH-19 (Old NH-2), on LHS while travelling towards Asansol, on NH-19 (Old NH-2), on LHS while travelling towards Asansol NH-19 (Old NH-2), on LHS while travelling towards Asansol Prom Dhatrigram Post Office to Hooghly Discricts Border, on SH-6 NH-14 (earlier SH-6) Within 15 KM from PANDABESWAR B.D.O. OFFICE towards Purjabl more on NH-14 (earlier SH-6) Within 15 KMs from J.C. Bose Institute of Education & Research at Budbud, LHS while travelling towards Kolkata. Between Arrah More and Bhagat Singh More, on Jawahar Lal Nehru Road in Durgapur Within 14 KMs of Kusumgram Bus Stand Charact Sholkata on SH-19 (Old NH-2), on LHS while travelling towards Kolkata. Between Arrah More and Bhagat Singh More, on Jawahar Lal Nehru Road in Durgapur Within 14 KMs of Kusumgram Bus Stand Charact Shalhad on SH-13 Within 12 KM of Sehara Gram Panchayet office while travelling towards Arambagh on NH-16 (Learlier SH-7). Within 5 KM of Akkuta More towards Arambagh office at Sirkhanda on SH-14 Barbahaman Shalhada	Mithin 15 KM from DSP main Gate flyover, towards Asansol, on NH-19 (old NH-2), on LHS white travelling towards Asansol, on NH-19 (old NH-2), on LHS white travelling towards Asansol, on SH-6 BARDHAMAN Asansol DSP main Gate flyover, towards Asansol, on SH-6 BARDHAMAN BARDHAMAN BARDHAMAN CONTROL HIS White Travelling towards Asansol DSP main Gate flyover, towards Canada Main Canada Gate flyover, towards Canada Gate flyov	Within 15 MA from DSP main Gate Mithin 15 MA from Main Gate Mithin 15 MA from Gate Mithin 15 Main Gate Mith	Buddwarn of SH11 (Debth Road)	Buddham on SH13 (Delhi Road)	Buttown on SH13 Delihe Road PUCURITY Regular 130 S. PH U.S. 30 30 30 30 30 30 30 3	Buildenin S Mit To SM From James Cale Process Proc	Part	Secretaria and Issue Secretari	Moderate Moderate	Marches March Ma

								I					
Between Gopiballavpur bus stand and Basanda High School on either side of SH- 9	JHARGRAM	Regular	180	Open	DC	25	25	625	32	75	Draw of Lots	15	5
LHS From KM stone 156 to KM stone 166 on NH-49 while travelling from Kharagpur towards Baharagora	JHARGRAM	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Within 3 KM of Medinipur Sadar Government polytechnic in Khasjangal mouza	PASCHIM MEDINIPUR	Regular	150	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
Between Radhamoni bus stop - Tamluk - Nandakumar on either side of SH-4	PURBA MEDINIPUR	Regular	120	OBC	DC	25	25	625	32	75	Draw of Lots	15	4
LHS From KM stone 127 to KM stone 107 on NH-16 while travelling from Kharagpur towards Kolkata	PASCHIM MEDINIPUR	Regular	160	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Between Keshiary bus stop and Belda railway level crossing on either side of SH-5	PASCHIM MEDINIPUR	Regular	140	Open CC 1	DC	25	25	625	32	75	Draw of Lots	15	5
Between Godapiasal Charubala Balika Vidyalaya and Railway level crossing (near Kubai river bridge, Chandrakona Road) on either side of NH-14 (earlier NH- 60)	PASCHIM MEDINIPUR	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between Jahalda High school and and Contai more (intersection with NH-116B) on SH-5	PURBA MEDINIPUR	Regular	155	OBC	DC	25	25	625	32	75	Draw of Lots	15	4
Between Mechogram flyover junction and Radhamoni bus stop via Panskura railway station on SH-4 (Panskura - Tamluk Road)	PURBA MEDINIPUR	Regular	160	Open	DC	25	25	625	32	75	Draw of Lots	15	5
LHS between Haldia city centre bus stop and Nandakumar bus stop on NH-116 while travelling from Haldia towards Kolaghat	PURBA MEDINIPUR	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Within 5 KM of Sindri High School on SH-4	PURULIA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
LHS between Lodhasuli flyover and Jhargram-Paschim Medinipur district border on NH-49 while travelling from Baharagora towards Kharagpur	JHARGRAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
LHS between Nandakumar bus stop and Haldia city centre bus stop on NH-116 while travelling from Kolaghat towards Haldia	PURBA MEDINIPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
LHS between Nandakumar bus stop and Mecheda bus stop on NH-116 while travelling from Haldia towards Kolaghat	PURBA MEDINIPUR	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
LHS between Mecheda bus stop and Nandakumar bus stop on NH-116 while travelling from Kolaghat towards Haldia	PURBA MEDINIPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
From Kestho More to Ajodhya More on SH-	PURULIA	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
Between Contai central bus stand and Chaulkhola Sub-Post office on eitherside of NH-116B	PURBA MEDINIPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Between Ramnagar police station and Digha Amrabati park on NH-116B	PURBA MEDINIPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Between Chaulkhola Sub-Post office and Ramnagar police station on either side of NH-116B	PURBA MEDINIPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
LHS between Ratulia busstop and Kolaghat bridge on NH-16 while travelling from Kharagpur towards Kolkata	PURBA MEDINIPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between MIT more and Tantipukur Bus Stop on SH-2	BANKURA	Regular	150	Open	сс	30	30	900	32	12	Bidding	30	5
Within 4 kms of Santuri Police Station	PURULIA	Regular	100	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
Within Municipal Limits of Bankura on	BANKURA	Regular	150	Open	СС	20	20	400	32	12	Bidding	30	5
Between Durlovpur more to Palerbandh More on NH-14 (old NH-60)	BANKURA	Regular	250	Open	СС	35	35	1225	32	12	Bidding	30	5
Within 5 KM of Dhansimla Bus Stand towards Kankardanga more on SH-8	BANKURA	Regular	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
From Fulberia more to Asuria More on SH-	BANKURA	Regular	180	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
Within 7 KM of Kashibedia More towards Bankura on NH-314 (old NH-60A)	BANKURA	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Within Municipal limits of Bishnupur	BANKURA	Regular	110	Open	DC	20	20	400	32	55	Draw of Lots	15	5
Within 2 KM of Jorehira High School on Saltora to Jhantipahari Road (SH-8)	BANKURA	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
on Raghunathpur to Dubra Road	PURULIA	Regular	120	OBC	DC		30	900	32		Draw of Lots	15	4
towards Hatirampur	PURULIA	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
Between Sonakhania (Orissa border) and Belda WBSEDCL Sub station on NH-16, LHS while travelling from Orissa towards Kharagpur	PASCHIM MEDINIPUR	Regular	200	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
	UHS From KM stone 156 to KM stone 166 on NH-49 while travelling from Kharagpur towards Baharagora Within 3 KM of Medinipur Sadar Government polytechnic in Khasjangal mouza Between Radhamoni bus stop - Tamluk - Nandakumar on either side of SH-4 LHS From KM stone 127 to KM stone 107 on NH-16 while travelling from Kharagpur towards Kolkata Between Keshiary bus stop and Belda railway level crossing on either side of SH-5 Between Godapiasal Charubala Balika Vidyalaya and Railway level crossing (near Kubai river bridge, Chandrakona Road) on either side of NH-14 (earlier NH-60) Between Jahalda High school and and Contai more (intersection with NH-116B) on SH-5 Between Mechogram flyover junction and Radhamoni bus stop via Panskura railway station on SH-4 (Panskura - Tamluk Road) LHS between Haldia city centre bus stop and Nandakumar bus stop on NH-116 while travelling from Haldia towards Kolaghat Within 5 KM of Sindri High School on SH-4 LHS between Nandakumar bus stop and Haldia city centre bus stop and Nandakumar bus stop and Haldia city centre bus stop and Haldia city centre bus stop and Haldia city centre bus stop and Sharagora towards Kharagpur LHS between Nandakumar bus stop and Mandakumar bus stop on NH-116 while travelling from Kolaghat towards Haldia LHS between Nandakumar bus stop and Mandakumar bus stop on NH-116 while travelling from Kolaghat towards Haldia From Kestho More to Ajodhya More on SH-4 LHS between Randakumar bus stop and Mandakumar bus stop on NH-116 while travelling from Kolaghat towards Kolaghat towards Kolaghat bridge on NH-116 while travelling from Kolaghat towards Kolaghat bridge on NH-116 while travelling from Kolaghat towards Kolaghat bridge on NH-116 while travelling from Kolaghat towards Kolaghat bridge on NH-116 while travelling from Kolaghat towards Kolaghat bridge on NH-116 while travelling from Kolaghat towards Kolaghat bridge on NH-116 while travelling from Kolaghat towards Kolaghat bridge on NH-16 while travelling from Kharagpur towards Kolaghat bridge on NH-16 while travelling fr	Basanda High School on either side of SH- JHARGRAM LHS From KM stone 156 to KM stone 166 on NH-49 while travelling from Kharagpur towards Baharagora Within 3 KM of Medinipur Sadar Government polytechnic in Khasjangal mouza Between Radhamoni bus stop - Tamluk - Nandakumar on either side of SH-4 LHS From KM stone 127 to KM stone 107 on NH-16 while travelling from Kharagpur towards Kolkata Between Keshiary bus stop and Belda railway level crossing (near Kubai river bridge, Chandrakona Raad) on either side of SH-5 Between Godapiasal Charubala Balika Vidyalaya and Railway level crossing (near Kubai river bridge, Chandrakona Raad) on either side of NH-14 (earlier NH- 60) Between Jahalda High school and and Contat more (intersection with NH-1168) on SH-5 Between Mechogram flyover junction and Radhamoni bus stop via Panskura railway station on SH-4 (Panskura - Tamluk Road) LHS between Haldia city centre bus stop and Nandakumar bus stop on NH-116 while travelling from Haldia towards Kolaghat Within 5 KM of Sindri High School on SH-4 LHS between Lodhasuli flyover and Jhargram-Paschim Medinipur district border on NH-49 while travelling from Baharagora towards Kharagpur LHS between Nandakumar bus stop and Mecheda bus stop on NH-116 while travelling from Kolaghat towards Haldia city centre bus stop and Mecheda bus stop on NH-116 while travelling from Kolaghat towards Haldia LHS between Nandakumar bus stop and Mecheda bus stop on NH-116 while travelling from Kolaghat towards Haldia LHS between Nandakumar bus stop and Mecheda bus stop on NH-116 while travelling from Kolaghat towards Haldia LHS between Nandakumar bus stop and Mecheda bus stop on NH-116 while travelling from Kolaghat towards Haldia LHS between Nandakumar bus stop and Mecheda bus stop on NH-116 while travelling from Kolaghat towards Haldia LHS between Nandakumar bus stop and Mecheda bus stop on NH-116 while travelling from Kolaghat towards Haldia LHS between Nandakumar bus stop and Mecheda bus stop on NH-16 while travelling from Forbatoffice an	Basanda High School on either side of SH- 9 LHS From KM stone 156 to KM stone 166 on NH-49 while travelting from KM strangput rowards Baharagora Within 3 KM of Medinipur Sadar Government polytechnic in Khasjangal mouza Between Radhamoni bus stop - Tamluk - Nandakumar on either side of SH-4 LHS From KM stone 127 to KM stone 107 on NH-16 while travelting from Kharagput rowards Kolkata Between Keshiary bus stop and Belda ratifutyal evel crossing on either side of SH-5 SH-5 Between Godapiasal Charubala Balika Vidyalaya and Railway level crossing (near Kubai river bridge, Chandrakona Rad) on either side of SH-5 Between Jahlaida High school and and Contai more (intersection with NH-1168) on SH-5 Between Mechogram flyover junction and Radhamoni bus stop via Pariskura railway Regular Station on SH-4 Planskura - Tamluk Radol) LHS between Haldia city centre bus stop and Nakamara bus stop on NH-116 while travelting from Haldia towards Kolaghat Within 5 KM of Sindri High School on SH-4 LHS between Haldia city centre bus stop and Nandakumar bus stop on NH-116 while travelting from Haldia towards Kolaghat Within 5 KM of Sindri High School on SH-4 LHS between Nandakumar bus stop and Nanda	Basanda High School on either side of SH- 9	Basanda Hijh School on either side of SH- 9 PURBA MARGRAM Regular 200 Open 1 PURBA MARGRAM Regular 200 Open 1 PURBA MARGRAM Regular 200 Open 2 PURBA MEDINIPUR Regular 150 SC December 1 PURBA MEDINIPUR Regular 150 Open 2 PURBA MEDINIPUR Regular 150 Open 3 PURBA MEDINIPUR Regular 155 OBC MEDINIPUR REGULAR PURBA PURB	Basanda High School on either side of 5H- JHARGRAM Regular 180 Open DC Unit From Mix stone 156 to KM stone 156 to Mix stone 156 to Mix stone 156 to Mix stone 156 to Mix stone 157 to Mix 13M of Mix 13	Basanda High School on either side of 3H-9	Basanda Riph School on either side of SH- MARGEMAN Regular 180 Open DC 25 25 25 15 15 15 15 15			Processor Proc	Secure Content Conte	Page 2016 Page

		1										ı	ſ	ı
118	Within 4 KM of 4 point (NH-2 and SH-5 intersection near salanpur) towards Neamatpur on Chittaranjan Disergarh Road (SH-5)	PASCHIM BARDHAMAN	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
119	Within 4 KM of Pakhuria High school on Khatra to Simlapal Road(SH-2)	BANKURA	Regular	110	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
120	Within 8 KM of Beliatore PS towards Bankura on SH-9	BANKURA	Regular	190	Open	DC	30	30	900	32	75	Draw of Lots	15	5
121	Withinn 1 KM of Disergarh Sub Post office on SH-5	PASCHIM BARDHAMAN	Regular	150	Open	СС	30	30	900	32	12	Bidding	30	5
122	Within Municipal limits of Raniganj on any Main Road	PASCHIM BARDHAMAN	Regular	150	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
123	From Punjabi More to Kalla More on NH- 19(Old NH-2) on LHS while going towards Dhanbad from Durgapur	PASCHIM BARDHAMAN	Regular	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
124	From Kalla more to Jharhand Border on NH-19 (old NH-2) on LHS while going towards Dhanbad from Asansol	PASCHIM BARDHAMAN	Regular	160	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
125	Between KM Stone no 63 and KM stone number 67 on NH-18 (old NH-32) on RHS while travelling from Chas more towards Purulia	PURULIA	Regular	300	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
126	Within 4 KM of Subhas More on SH 5	PURULIA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
127	Within 5 KM of Nakaijuri Chowk on SH-2	BANKURA	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
128	Within 30 KM from the intersection of NH-34 & SH-11 at Ranaghat towards Krishnagar on RHS on NH-34 (New NH 12)	NADIA	Regular	200	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
129	Between Science City and EM Bye Pass - Patuli Crossing on either side of E M Byepass (Biswa Bangla Sarani)	KOLKATA	Regular	280	Open CC 2	DC	20	20	400	32	75	Draw of Lots	15	5
130	From Natun Bazar to Hanskhali BDO Office Nadia on NH-312 on either side	NADIA	Regular	180	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
131	Between Taratala Road - Hide Road Crossing and Hide Road - Karl Marx Sarani Crossing on Hide Road	KOLKATA	Regular	150	Open	DC	25	25	625	32	75	Draw of Lots	15	5
132	Between Simurali Chowmata to Ranaghat on LHS on NH 34 (New NH 12)	NADIA	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
133	Within 8 KM from intersection of Taki Road (SH-2) & SH-3 at Kholapota towards Bagjola on SH-3	DRTH 24 PARGAN	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
134	Between Brace Bridge Railway Station and GRSE Bhavan on Taratala Road	KOLKATA	Regular	150	Open	DC	25	25	625	32	75	Draw of Lots	15	5
135	Between Ruia More to Dopere More towards Muragacha on Kalyani Expressway on LHS	DRTH 24 PARGAN	Regular	200	Open	DC	30	30	900	32	75	Draw of Lots	15	5
136	From Behala Chowrasta Metro Station to Dakghar Post Office on Biren Roy Road	KOLKATA	Regular	150	OBC	СС	20	20	400	32	12	Bidding	30	4
137	Between Jaleswar More and Chandpara on NH 35 (New NH-112) on either side	DRTH 24 PARGAN	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
138	Between Maheshtala Municipality Office to Dakghar Post Office on Budge Budge Trunk Road	OUTH 24 PARGAN	Regular	170	Open	DC	25	25	625	32	75	Draw of Lots	15	5
139	Within Bhojerhat to Ghatakpukur on Basanti Highway on SH3	DUTH 24 PARGAN	Regular	140	Open	DC	30	30	900	32	75	Draw of Lots	15	5
140	Between Bethuadahari Bus Stand to Gobindapur Danagapara Bus Stand on NH- 34 on LHS	NADIA	Regular	200	OBC	СС	35	35	1225	32	12	Bidding	30	4
141	From Chongda More to Jaleswar More on Jessore Road at NH-35 (New NH-112) on either side	DRTH 24 PARGAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
142	Within 6 KM from Wirelessmore towards Barasat on Barrackpore-Barasat Road (SH 2) on either side Within 10 KM on NH 16 from Dankuni to	ORTH 24 PARGAN	Regular	130	Open	DC	30	30	900	32	75	Draw of Lots	15	5
143	Nithin 10 KM on NH 16 from Dankuni to Nibra Kona Expressway Crossing on either side of NH 16 Within 12 KMs from Kalyani University	HOWRAH	Regular	280	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
144	towards Madanpur on Kalyani University towards Madanpur on Kalyani-Madanpur Road (SH-1) on either side Between Arapanch to Sonarpur Flyover	NADIA	Regular	180	OBC	СС	30	30	900	32	12	Bidding	30	4
145	on Sonarpur Chakberia Road	DUTH 24 PARGAN	-	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
146	Between Kachkol More and Deganga PS on SH 2 on either side	DRTH 24 PARGAN	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
147	Within 8 KM from intersection of Taki Road & Kharibari Road towards Barasat on SH-2 (Taki Road) on either side	DRTH 24 PARGAN	Regular	105	Open	DC	30	30	900	32	75	Draw of Lots	15	5
148	Between Simurali Chowmata to Ranaghat on RHS on NH 34 (New NH 12)	NADIA	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
149	From Deypara Bisnupur High School towards Nabadwip More on Chuadanga- Kusumgram Road on SH-8 on either side	NADIA	Regular	180	Open	сс	30	30	900	32	12	Bidding	30	5
150	Between Deganga PS and Berachampa on SH 2 on either side	ORTH 24 PARGAN	Regular	150	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
151	Within town limit of Birnagar municipality but not on SH-11	NADIA	Regular	120	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	manicipatity but not on 5ft-11	Į	I	I	I				L	I	<u> </u>	1	l	

152	Within 10 KM from intersection of SH-3 and Habra-Basirhat Road at Nakpul Towards Bagjola on SH-3 (Bongaon- Basirhat) Road on either side	DRTH 24 PARGAN.	Regular	120	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
153	Within Municipality Limit on Habra- Nagarukhra Road	ORTH 24 PARGAN	Regular	160	Open	сс	25	25	625	32	12	Bidding	30	5
154	Between Shyampur and Gadiara on SH 15 (Shyampur Gadiara Road)	HOWRAH	Regular	105	ST PH	CFS	25	25	625	0	0	Draw of Lots	0	3
155	Between Bagnan Library more to Shyampur High School on SH 15	HOWRAH	Regular	100	OBC PH	DC	25	25	625	32	75	Draw of Lots	15	4
156	From Jhitkipota Gate to Badkulla on SH-	NADIA	Regular	200	Open	DC	30	30	900	32	75	Draw of Lots	15	5
157	Between Barajaguli to Simurali Chowmata on NH 34 (New NH 12) on either side	NADIA	Regular	180	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
158	Between Bethuadahari Bus stand to Gabarkuli on LHS at NH-34 (New NH 12)	NADIA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
159	Between Chandpara and Bongaon on either side of NH 35 (New NH 112)	ORTH 24 PARGAN	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
160	Within 30 KM from the intersection of NH-34 & SH-11 at Ranaghat towards Krishnagar on LHS on NH-34 (New NH 12)	NADIA	Regular	200	Open	СС	35	35	1225	32	12	Bidding	30	5
161	From Asannagar to Majhdia on SH-8	NADIA	Regular	150	Open	СС	30	30	900	32	12	Bidding	30	5
162	Between Mayapur More to Gabarkuli on NH-34 (either side)	NADIA	Regular	200	OBC	СС	35	35	1225	32	12	Bidding	30	4
163	Between Gabarkuli to Bethuadahari Bus Stand on LHS on NH 34 (New NH 112)	NADIA	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
164	on NH-34 (New NH 12) on either side	DRTH 24 PARGAN.	Regular	220	Open	сс	35	35	1225	32	12	Bidding	30	5
165	any Road of Min. 5 Mtr Width	DRTH 24 PARGAN.	Regular	150	Open	DC	18	18	324	32	75	Draw of Lots	15	5
166	Between Salkia More and Kona More Bus Terminus on Benaras Road	HOWRAH	Regular	150	Open	DC	18	18	324	32	75	Draw of Lots	15	5
167	Between Madartala Market and Haroa Dharamtala More on SH 3 on either side	DRTH 24 PARGAN.	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
168	Within Kalyani Municipality on any road of Min 5 Mtr Width	NADIA	Regular	150	SC	CFS	18	18	324	0	0	Draw of Lots	0	3
169	Between Ghatbaor FP School and Pathshimulia Bazar on NH-312 on either side	ORTH 24 PARGAN.	Regular	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
170	Between Gobindapur Danagapara Bus Stand to Bethuadahri Bus Stand on LHS on NH-34 on LHS (New NH 12)	NADIA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
171	Between Panchla and Uluberia on LHS towards Kolaghat on NH 16	HOWRAH	Regular	175	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
172	Between Patshimulia Bazar to Helencha on NH-312 on either side	DRTH 24 PARGAN	Regular	170	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
173	Within 15 KMs on RHS from Dhulagarh Toll Plaza towards Kolaghat on NH 16	HOWRAH	Regular	175	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
174	Between Amta Highway Sub Division PWD Office and Bagnan Library More on SH 15	HOWRAH	Regular	100	OBC	DC	25	25	625	32	75	Draw of Lots	15	4
175	Between Baltikuri and Salap More (NH 16 Crossing) on Howrah Amta Road	HOWRAH	Regular	190	Open	DC	20	20	400	32	75	Draw of Lots	15	5
176	Within 20 Km from Uluberia NH 16 Crossing towrads Kolaghat on either side of NH 16	HOWRAH	Regular	400	Open	СС	35	35	1225	32	12	Bidding	30	5
177	From Nischintapur to Karanjali on either side of NH 12 (Old NH117)	OUTH 24 PARGAN	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
178	Within 7 Km from crossing of EM Bye Pass and Basanti Highway towards Bantala on Basanti Highway on SH 3	DUTH 24 PARGAN.	Regular	185	OBC CC 1	DC	25	25	625	32	75	Draw of Lots	15	4
179	From Keutia More to Saheb Colony More on Kalyani Expressway on RHS	DRTH 24 PARGAN.	Regular	170	Open	DC	30	30	900	32	75	Draw of Lots	15	5
180	BETWEEN SATPUKURIA AND FALAKATA BUS STAND ON SH	ALIPURDUAR	Regular	100	Open PH	DC	30	30	900	32	75	Draw of Lots	15	5
181	BETWEEN ASSAM MORE CHECKPOST AND DAWAGURI ON NH-17	COOCH BEHAR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
182	BETWEEN BIHAR MORE AND GHOSHPUKUR ON NH-27	DARJEELING	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
183	WITHIN 4 KM FROM CHANGRABANDHA IMMIGRATION CHECKPOST TOWARDS MAYNAGURI ON NH-717	COOCH BEHAR	Regular	200	Open	СС	35	35	1225	32	12	Bidding	30	5
184	BETWEEN MARAPORA CHOWPATY AND PALPARA SCHOOL PLAYGROUND ON SH- 16	COOCH BEHAR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
185	FROM CHITREY TO DAMBAR CHOWK ON SH-12	KALIMPONG	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
186	BETWEEN JAMALDAH AND MATHABHANGA 1 BDO OFFICE ON SH-16	COOCH BEHAR	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
	BETWEEN GANGARAMPUR GOVT. POLYTECHNIC KADIGHAT AND FULBARI ON NH-512	DAKSHIN DINAJPUR	Regular	150	Open	сс	35	35	1225	32	12	Bidding	30	5
188	BETWEEN FULBARI AND PATIRAM ON NH- 512	DAKSHIN DINAJPUR	Regular	150	Open	СС	35	35	1225	32	12	Bidding	30	5
189	COOCHBEHAR TOWN, WITHIN MUNICIPAL LIMIT (NOT ON NH)	COOCH BEHAR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
	LEMET (NOT ON NET)	I		l———	-	l	l		l		I	I		<u> </u>

1	DETENSION CHANGDARANDHA AND					I	1				Ī	ı		
190	BETWEEN CHANGRABANDHA AND JAMALDAH ON SH-16	COOCH BEHAR	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
191	BETWEEN PATIRAM AND BALURGHAT ON NH-512	DAKSHIN DINAJPUR	Regular	170	Open	СС	35	35	1225	32	12	Bidding	30	5
192	Between Mahadipur and Balarampur on Berhampore bypass.	MURSHIDABAD	Regular	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
193	BETWEEN BALURGHAT AND HILI ON NH- 512	DAKSHIN DINAJPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
194	BETWEEN BIRAPARA CHOWPATY AND BAGANBARI ON NH-17	ALIPURDUAR	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
195	BETWEEN DINHATA AND SAHEBGANJ CHOWPATY ON SAHEBGANJ ROAD	COOCH BEHAR	Regular	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
196	DALKHOLA TOWN (NOT ON NH)	UTTAR DINAJPUR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
197	BETWEEN GORUBATHAN AND ALGARAH ON LAVA ROAD	KALIMPONG	Regular	100	Open	DC	30	30	900	32	75	Draw of Lots	15	5
198	BETWEEN FALAKATA CHOWPATY AND SONAPUR CHOWPATI ON NH-27	ALIPURDUAR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
199	BETWEEN SONAPUR CHOWPATY AND BIRPARA CHOWPATY ON NH-27	ALIPURDUAR	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KENDRIYE VIDYALAYA			450	one	200	25	25	4225	22	05	5 (1)	45	
200	HASIMARA AND SALSABARI ON NH-317	ALIPURDUAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
201	WITHIN 3 KM FROM BIRPARA CHOWPATY ON NH-317	ALIPURDUAR	Regular	170	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
202	FROM ODLABARI MORE TO CHALSA BUS STAND ON NH-17	JALPAIGURI	Regular	180	Open	СС	35	35	1225	32	12	Bidding	30	5
203	BETWEEN ST. JOSEPH PRIMARY SCHOOL, PARINAGAR KHASMAHAL AND PABRINGTAR, NOBGAON KHASMAHAL ON NEW NH-717A	KALIMPONG	Regular	190	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
204	ON LHS FROM BAIDARA TO DURGAPUR ON NH-12	UTTAR DINAJPUR	Regular	170	ОВС	СС	35	35	1225	32	12	Bidding	30	4
205	BETWEEN MADARIHAT POLICE STATION AND KENDRIYE VIDYALAYA HASIMARA ON NH-317	ALIPURDUAR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
206	BETWEEN SIMULBARI CHECKPOST MORE AND SSB CAMP, MATIGARA ON SH-12	DARJEELING	Regular	130	Open	СС	30	30	900	32	12	Bidding	30	5
207	BULBULCHANDI GHORA STAND TO HABIBPUR BLOCK OFFICE ON NALAGOLA- PAKUAHAT-MALDA ROAD	MALDA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
208	WITHIN 10 KM OF IKARCHALA RAILWAY STATION MORE TOWARDS KISHANGANJ ON NH-27	UTTAR DINAJPUR	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
209	BETWEEN ALIPURDUAR BUS STAND AND GADADHAR MORE ON NH-27	ALIPURDUAR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
210	FROM GAZOLE TOLL PLAZA TO SUSTHANI MORE NH-12	MALDA	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
211	BETWEEN SATBHAIYA MORE AND BIHAR MORE, BAGDORA ON NH	DARJEELING	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
212	BETWEEN TASHI DONGANG CHOELING MONASTERY AND TINGLING VIEW POINT ON MIRIK ROAD	DARJEELING	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
213	FROM FARAKKA BARRAGE TO SUSTHANI MORE ON NH-12	MALDA	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
214	BETWEEN HARISHCHANDRAPUR FIRE STATION AND TELJANNAGHAT PRIMARY SCHOOL ON NH-31	MALDA	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
215	BETWEEN SBI BIDHANNAGAR AND GHOSHPUKUR CHOWK ON NH-27	DARJEELING	Regular	150	ОВС	СС	35	35	1225	32	12	Bidding	30	4
216	BETWEEN SONAPUR POLICE CHECKPOST AND ILUABARI ON NH-27	UTTAR DINAJPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
217	Between Boropahari more and Rampurhat on NH-114 A	BIRBHUM	Regular	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
218	ON NEW ISLAMPUR BYPASS ROAD	UTTAR DINAJPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
219	Between Andi and Jasohari on SH-11 BETWEEN PATARAM AND CHAKRAMARI ON	MURSHIDABAD DARJEELING	Regular Regular	100 170	Open CC 1 Open	DC DC	30 35	30 35	900	32 32	75 95	Draw of Lots Draw of Lots	15 15	5
220	NH-327. FROM SILIGURI MORE TO RAIGANJ CLOCK TOWER MORE ON NETAJI SUBHASH ROAD	UTTAR DINAJPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots Draw of Lots	0	3
222	BETWEEN SULKHAPARA TOLL PLAZA AND	JALPAIGURI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
223	TELIPARA MORE ON NH-17 BETWEEN PATARAM AND MECHI	DARJEELING	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
224	BRIDGE(PANITANKI) ON NH-327 BETWEEN RAMPUR CHOWK AND PURNIA	UTTAR	Regular	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
225	MORE FLYOVER ON NH-27 SIMULBARI CHECKPOST MORE TO	DINAJPUR DARJEELING	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
226	TINGLING VIEW POINT ON SH-12 BETWEEN BSF CAMPUS RANINAGAR AND ODLABARI POST OFFICE ON NH-27	JALPAIGURI	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
227	BETWEEN BILASPUR AND PANISHALA	UTTAR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
228	CHECKPOST ON NH-12 BETWEEN HASIMARA POST OFFICE AND GAROPARA RAILWAY HALT ON SH-16	DINAJPUR	Regular	100	Open CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
229	BETWEEN HUSLADANGA TOLL PLAZA AND	JALPAIGURI	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
230	DUDHUA BRIDGE ON NH-27 DOOARS INTERNATIONAL PUBLIC SCHOOL	COOCH BEHAR	Regular	120	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	TO KHOLTA ON SH	JOSEPH DELIAN	56441			L			,00		L ,			

1														
231	BETWEEN PANISHALA TOLL PLAZA AND RUPAHAR MARKET ON NEW RAIGANJ BYPASS ROAD	UTTAR DINAJPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
232	BETWEEN PURNIA MORE FLYOVER AND PANDEPUR ON NH-12	UTTAR DINAJPUR	Regular	180	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
233	BETWEEN BARODUARY MARKET AND TULSIPARA ON NH-12	UTTAR DINAJPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
234	FROM MOYNA HIGH SCHOOL TO GAZOLE TOLL PLAZA ON NH-12	MALDA	Regular	190	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
235	BETWEEN MATIALI BDO OFFICE MORE AND MAYNAGURI ON NH	JALPAIGURI	Regular	160	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
236	SILIGURI TOWN, JALPAIGURI DISTRICT (NOT ON Highway)	JALPAIGURI	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
237	FROM GHOOM TO PASHUPATI PHATAK (SH-12)	DARJEELING	Regular	100	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
238	BETWEEN BRAHMAPUR AND MAINAGURI BYPASS MORE ON NH-717	JALPAIGURI	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
239	Between Mallarpur and Taltala More on NH-114	BIRBHUM	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
240	BETWEEN SSB CAMP, MATIGARA AND KHAPRAIL MORE ON SH-12	DARJEELING	Regular	140	Open	сс	30	30	900	32	12	Bidding	30	5
241	Between Puthiapara and Chunnakhali on NH-312 (Old- SH-11A)	MURSHIDABAD	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
242	Between Nalhati and Rajgram on SH-7	BIRBHUM	Regular	110	Open CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
243	BETWEEN PANIKAURI TOLL PLAZA AND BSF CAMPUS RANINAGAR ON NH-27	JALPAIGURI	Regular	180	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
244	Within 8 km from Illambazar towards Hetampur on SH-14	BIRBHUM	Regular	120	ОВС	сс	30	30	900	32	12	Bidding	30	4
245	BETWEEN MEDICAL MORE CHOWK AND NAUKAGHAT CHOWK VIA NAUKAGHAT ROAD ON AH	DARJEELING	Regular	200	Open	сс	35	35	1225	32	12	Bidding	30	5
246	DARJEELING (WITHIN MUNICIPAL LIMIT)	DARJEELING	Regular	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
247	BETWEEN FULBARI BARAGE BRIDGE AND FULBARI HIGH SCHOOL BINNAGURI ON NH- 27	JALPAIGURI	Regular	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
248	BETWEEN DARJEELING MORE AND SUKHNA ON NH-110	DARJEELING	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
249	Within 8 Kms from Rampurhat Police Station towards Nalhati on NH-14	BIRBHUM	Regular	150	Open	СС	35	35	1225	32	12	Bidding	30	5
250	Between Dakbangla More and Sajur More on NH-12	MURSHIDABAD	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
251	Between Daultabad and Kaladanga on NH- 312 (Old- SH-11A)	MURSHIDABAD	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
252	Between Kuli and Khargram Between Farakka Bus Stand and	MURSHIDABAD	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
253	Dakbangla More on NH-12 From Chaltia to Rejinagar on RHS on NH-	MURSHIDABAD	Regular Regular	150	Open Open	СС	35 35	35 35	1225 1225	32	12	Bidding Bidding	30	5
255	12 BETWEEN NETAJI MORE AND 420 MORE	MALDA	Regular	100	OBC PH	DC	20	20	400	32	55	Draw of Lots	15	4
256	VIA NETAJI SUBHASH ROAD WITHIN ALIPURDUAR MUNICIPAL LIMIT ON	ALIPURDUAR	Regular	130	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
257	MAJOR ROAD (NOT ON NH) Between Moregram and Umarpur on NH-	MURSHIDABAD	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
258	Between Raghunathpur and Jalangi on	MURSHIDABAD	Regular	150	Open	СС	35	35	1225	32	12	Bidding	30	5
259	NH-312 (Old- SH-11A) On Farakka Ring Road (Within West	MURSHIDABAD	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
260	Bengal) on New NH-33 Between PWD More and Beliapukur on NH-	MURSHIDABAD	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
261	312 (Old- SH-11A) Within Jiaganj - Azimganj Municipal limit	MURSHIDABAD	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
262	Between Jangipur and Lalgola on NH-312 (Old- SH-11A)	MURSHIDABAD	Regular	150	Open	СС	35	35	1225	32	12	Bidding	30	5
263	Within 4 Kms from Abdarpur P on NH14	BIRBHUM	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
264	Between Rongaipur bus stand and Purandarpur on NH	BIRBHUM	Regular	150	Open	сс	35	35	1225	32	12	Bidding	30	5
265	BETWEEN GHOOM AND TEESTA BAZAAR ON DARJEELING GHOOM KALIMPONG ROAD (SH-12)	DARJEELING	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
266	Between Shivpur Toll Plaza and Moregram on NH-12	MURSHIDABAD	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
267	Kalabagan bus Stand to Jibanti Chowk on SH-11	MURSHIDABAD	Regular	120	Open	СС	30	30	900	32	12	Bidding	30	5
268	GHOSHPUKUR MORE TO BHALUKGARA MORE ON NH-327C	DARJEELING	Regular	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
269	Within 6 KM from Sherpur on Khargram Panchgram Road	MURSHIDABAD	Regular	100	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
270	Between Satkenduri and Kachujor on NH- 14	BIRBHUM	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
271	Between Sajur more and Ahiron Halt Bus stop on NH-12	MURSHIDABAD	Regular	150	Open	СС	35	35	1225	32	12	Bidding	30	5
272	Within Berhampore Municipal Limit(Not on NH)	MURSHIDABAD	Regular	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
273	Within 5 Km from Ahmadpur Chowrasta on SH-6	BIRBHUM	Regular	110	ОВС	сс	30	30	900	32	12	Bidding	30	4
274	Kharsa more bus stop to Gokarna on SH- 11	MURSHIDABAD	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
275	Between Deucha and Mallarpur on NH-14	BIRBHUM	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
276	Between Bhimgara and Paigora More Bus stop on NH-14	BIRBHUM	Regular	150	Open	сс	35	35	1225	32	12	Bidding	30	5

	Data and Mallaness and Danses what Dans				I									
	Between Mallarpur and Rampurhat Bus Stand on NH-14	BIRBHUM	Regular	170	Open	сс	35	35	1225	32	12	Bidding	30	5
278	BETWEEN BARANACHINA POST OFFICE AND JORE PAKURI HIGH SCHOOL ON RANGPUR ROAD	COOCH BEHAR	Regular	100	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
	With in 1 KM from Haripal BDO Office towards Basudevpur on any side	HOOGHLY	Rural	100	Open	СС	25	25	625	16	6	Bidding	10	4
	Between Mohanad & Bhastara on Moghra Gurap road.	HOOGHLY	Rural	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
	Between Panchanantala High School To Panchghora Primary Vidyalaya, on Katwa - Koichar Road	PURBA BARDHAMAN	Rural	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	Between Mosat and Ainya Panch Matha on Jagatballavpur -Mosat Road	HOOGHLY	Rural	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
283	On Dasghara-Gurap road, from intersection with SH 15 at Dasghara upto Narayanpur Primary School	PURBA BARDHAMAN	Rural	70	Open	DC	30	30	900	16	35	Draw of Lots	5	4
284	Between Pandudahu DVC Cannel Bridge to Kasba Radharani Vidyamandir High School	PASCHIM BARDHAMAN	Rural	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
285	Within 14 kms from Paschimbanga Gramin Bank, Hossenpur towards Bhatar on Maldanaga Road	PURBA BARDHAMAN	Rural	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	Within 2 Kms of Canara Bank at Mathrun on Katwa-Natunhat Road	PURBA BARDHAMAN	Rural	110	Open	DC	40	40	1600	16	35	Draw of Lots	5	4
287	Within 3 Kms of Department Of Hospital Management NSHM College Of Management & Technology, Arrah towards Malandighi on Muchipara - Shibpur Road.	PASCHIM BARDHAMAN	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	Within 5 Kms of UCO Bank at Singerkone on Boinchi Kalna Road	PURBA BARDHAMAN	Rural	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
289	Within 8 KM from Guskhara Railway Crossing while travelling towards Ausgram on Guskhra Ausgram Road (Not ON SH)	PURBA BARDHAMAN	Rural	70	Open	DC	30	30	900	16	35	Draw of Lots	5	4
290	Within 4 KM of Ichapur Primary Health Care Centre (PHC) on Ichapur Sorpi Main Road	PURBA BARDHAMAN	Rural	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
291	Between Astaghoria Post Office and Dhatrigram crossing rail gate on Kalna Road	PURBA BARDHAMAN	Rural	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
292	Within 8 KMs of Chandrapur hanuman Mandir towards Balgona on Dainhat Road	PURBA BARDHAMAN	Rural	100	Open CC 1	сс	30	30	900	16	6	Bidding	10	4
	From Kendur More to Aklakhi High School on Uchalan-Aklakhi Road	PURBA BARDHAMAN	Rural	90	Open	DC	30	30	900	16	35	Draw of Lots	5	4
	Within 5 Kms of Hatgobindapur Union Bank of India Branch on Kalna Road	PURBA BARDHAMAN	Rural	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
295	Within 3kms of State Bank of India at BATASPUR, on Kabikankan mukandaram Road	PURBA BARDHAMAN	Rural	100	OBC	сс	30	30	900	16	6	Bidding	10	3
296	Within 5 km of Gourbazar Bus Stand on Road Connecting Shyamsundarpur to Pansuli Road	PASCHIM BARDHAMAN	Rural	80	Open	DC	30	30	900	16	35	Draw of Lots	5	4
297	From Palashan M M High School to Pahalanpur Post Office on Bardhaman Road Via Pahalanpur.	PURBA BARDHAMAN	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
298	Between Jhargram Paper mill and Chadri on either side of Jhargram-Panchami- Chandri Road	JHARGRAM	Rural	90	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
299	Ramnagar Gram Panchayat, Block Ausgram-2, on any motorable road	PURBA BARDHAMAN	Rural	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
300	From Gopalpur Gram Panchayat Office to Rajband on Rajbandh-Gopalpur Road (not on NH)	PASCHIM BARDHAMAN	Rural	70	Open	DC	30	30	900	16	35	Draw of Lots	5	4
301	Between intersection with SH-9 at Kharikamathani and Dhumsai (Orissa border)	JHARGRAM	Rural	110	Open CC 2	DC	25	25	625	16	35	Draw of Lots	5	4
302	Within 3 Kms of Andal Police Station on any major road (not on NH)	PASCHIM BARDHAMAN	Rural	100	OBC CC 1	СС	20	20	400	16	6	Bidding	10	3
303	Within Simla Mouza on Kashipur to Hura road	PURULIA	Rural	70	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
304	Between Debipur & Sultanpur (Not on NH/SH)	PURBA BARDHAMAN	Rural	80	Open	DC	30	30	900	16	35	Draw of Lots	5	4
	Between Pirakata High School - Goaltore - Hoomgarh Sub-post office	PASCHIM MEDINIPUR	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
306	Between IQ City Hospital, Durgapur & Jawaharlal Nehry Road on I Q City Road	PASCHIM BARDHAMAN	Rural	100	ОВС	сс	20	20	400	16	6	Bidding	10	3
307	Between Kolaghat B.D.O office and Jashar-Sribara bridge on either side of the road	PURBA MEDINIPUR	Rural	100	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
308	Between Balichak railway level crossing and Mundumari Post office on either side of the road	PASCHIM MEDINIPUR	Rural	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	Between Jamna Post office - Temathani (Lutunia) - Dehati bridge	PASCHIM MEDINIPUR	Rural	110	Open	DC	25	25	625	16	35	Draw of Lots	5	4
310	Between Bhadutala Vivekananda High School and Pirakata High School on either side of Bhadutala-Pirakata Road	PASCHIM MEDINIPUR	Rural	120	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
311	Between Garhbeta Police Station and Garhbeta college on Garhbeta - Hoomgarh Road	PASCHIM MEDINIPUR	Rural	100	Open	СС	20	20	400	16	6	Bidding	10	4

							,		,					
312	Within 6 kms of Nakrakonda Branch Post Office towards Ukhra on Jhanjra road.	PASCHIM BARDHAMAN	Rural	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
313	Between Mohanpur High school and Purunia (West Bengal - Orissa border) on either side of the road	PASCHIM MEDINIPUR	Rural	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
314	Between Mohanpur Police Station and Solpatta bus stop on Egra-Solpatta Road	PASCHIM MEDINIPUR	Rural	120	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
315	Between Balughata (Block animal health centre) and Kukrahati Ferry ghat via Brajlalchak and Chaitanyapur	PURBA MEDINIPUR	Rural	90	Open CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
316	Between Contai Kshetramohan Vidya Bhaban - Basantia - Benichak - Petuaghat fishing harbour	PURBA MEDINIPUR	Rural	80	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
317	Betweeen Henria Bus stand and Baratala Khejuri College	PURBA MEDINIPUR	Rural	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
318	Between intersection with NH-49 at Guptamoni and Kultikri Sub post office on Guptamoni-Kultikri road	JHARGRAM	Rural	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
319	Between Pratapdighi bridge and Kharai more (intersection with Egra-Patashpur road)	PURBA MEDINIPUR	Rural	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
320	Between Moyna BDO office and Prajabar new bridge on either side of the road	PURBA MEDINIPUR	Rural	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
321	Between Henria railway level crossing and Itaberia bridge on Heria-Itaberia Road.	PURBA MEDINIPUR	Rural	120	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
322	Between Math Chandipur Post office and Tengua Busstop on Chandipur-Nandigram Road	PURBA MEDINIPUR	Rural	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
323	Between Contai central bus stand and Depal Sub-postoffice on Contai-Majna- Depal Road	PURBA MEDINIPUR	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
324	Between Egra Swarnamoyi Girls High School - Patashpur - Dehati bridge	PURBA MEDINIPUR	Rural	90	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
325	Between Nandakumar Police Station and Manjushree bus stop (Haldia) via Mahishadal & Sutahata	PURBA MEDINIPUR	Rural	110	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
326	Between Mohanpur police station and Khakurda police station on Mohanpur- Jankapur-Khakurda Road	PASCHIM MEDINIPUR	Rural	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
327	Between Egra (Digha more) and Ramnagar railway level crossing on either side of Egra - Ramnagar Road	PURBA MEDINIPUR	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
328	From Bokultala more to Jolitha more on Kotulpur to Kamarpukur Road	BANKURA	Rural	120	OBC PH	DC	25	25	625	16	35	Draw of Lots	5	3
329	Between Ashari Busstop - Lowada - Maligram B.O Post Office (Malighati) on either side of the road	PASCHIM MEDINIPUR	Rural	90	SC PH	CFS	25	25	625	0	0	Draw of Lots	0	2
330	Between Magrajpur busstop and Mangalchak on either side of the road	PURBA MEDINIPUR	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
331	Between Adra Police Station To Roguri more on Adra to Kashipur Road	PURULIA	Rural	80	Open	DC	30	30	900	16	35	Draw of Lots	5	4
332	From the intersection with NH-16 at Madhpur bus stop to Dakshin Geria on Madhpur road	PASCHIM MEDINIPUR	Rural	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
333	Within Raybandh Mouza on Bikrampur to Hoomgarh Road	BANKURA	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
334	Between Bridge on Sali river near Nafardanga and Dhulai girls High school on Sonamukhi Kuldanga road	BANKURA	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
335	Within Arrah Mouza on Simlapal to Bhutsahar Road	BANKURA	Rural	70	Open	DC	30	30	900	16	35	Draw of Lots	5	4
336	Within Village Arsha on Arsha to Ahara Road	PURULIA	Rural	80	ОВС	DC	30	30	900	16	35	Draw of Lots	5	3
337	Within 2 KM of Metepara More on Phulberia to Desuria Road	BANKURA	Rural	70	Open	DC	30	30	900	16	35	Draw of Lots	5	4
338	Between Manikpara mouza and Khalsheuli mouza on either side of Manikpara-Khalsheuli-Panchrulia road	JHARGRAM	Rural	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
339	Within 3 KM of Gourangdi more Towards Kashipur on Kashipur to Gourangdi Road	PURULIA	Rural	80	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
	Within 5 KM of Hetia Bus stand towards Kumbhosthol on Hetia to Kumbhosthal Road	BANKURA	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
341	Within 2 KM of Ghanashyampur Bus stop on Durlovpur Barjora road	BANKURA	Rural	80	Open CC 1	DC	30	30	900	16	35	Draw of Lots	5	4
342	Within Khosbag Mouza on Rasulpur to Indas Road	BANKURA	Rural	90	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
343	Within 3 KM of Gourandi Bus stand on Asansol to Renakura road	PASCHIM BARDHAMAN	Rural	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
344	Within Notungram Mouza on Natungram to Punisol Bypass Road	BANKURA	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
345	Within 4 KM of Misirdih More towards Tamna on Tamna to Arsha Road	PURULIA	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
346	Within 5 KM of Pabra More on Saltora to Mejia Road	BANKURA	Rural	100	ОВС	DC	30	30	900	16	35	Draw of Lots	5	3
347	Within 7 KM of Dabarmore more towards	PASCHIM	Pural	70	sr.	CFS	30	30	900	0	0	Draw of Late	0	,
34/	Gourandi on Dabarmore to Gourandi Road	BARDHAMAN	Rural	70	SC	LFS	30	30	900	U	U	Draw of Lots	0	2

348	Within 3 KM of Bridge on Kumari River, near Purihasa, towards Bamundiha on Chakaltore to Barabazar Road	PURULIA	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
349	From Bodra to Sonadalia High School on Baruipur - Champahati - Ghatakpukur Road)	OUTH 24 PARGAN	Rural	115	Open	DC	30	30	900	16	35	Draw of Lots	5	4
350	Between Magrahat Police Station and Dakshin Barasat on Magrahat - Dakhsin Barasat Road	DUTH 24 PARGAN.	Rural	80	Open	DC	30	30	900	16	35	Draw of Lots	5	4
351	Within 5 km from IOCL Mourigram POL Terminal towards Alampur on Andul road	HOWRAH	Rural	90	OBC CC 1	DC	25	25	625	16	35	Draw of Lots	5	3
352	Within 9 KM from AIIMS Kalyani towards Kalyani Municipality on Rina Road on either side	NADIA	Rural	120	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
353	Badu to Kharibari outside Municipal Limits	DRTH 24 PARGAN.	Rural	150	Open PH	DC	20	20	400	16	35	Draw of Lots	5	4
354	Between Karbala More and Hatugange on Hatugange-Ramnathpur Road	OUTH 24 PARGAN	Rural	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
355	Within 8 KM from Bira Chowmatha towards BADAR on Bira-Badar Road	DRTH 24 PARGAN	Rural	90	Open	СС	30	30	900	16	6	Bidding	10	4
356	From kheyadah High School towards Kheyadah 2 Nos Gram Panchayat on Bajbarantala Road	DUTH 24 PARGAN.	Rural	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
357	Within 4 kms from Chatta Bazar Auto Stand towards Dakghar on Bibirhat - Chatta - Dakghar Road	DUTH 24 PARGAN.	Rural	100	Open	DC	18	18	324	16	35	Draw of Lots	5	4
358	Between Sishu Bikash College of Education and Mukto Bihongo Old Age Home on Sonarpur Chakberia road	DUTH 24 PARGAN.	Rural	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
359	With in 6 KMs From Crossing of K P Mandal Road & Thakurpukur-Bibirhut- Bakhrahut-Raipur Road towards Thakurpukur on Thakurpukur-Bibirhut- Bakhrahut-Raipur Road	DUTH 24 PARGAN.	Rural	80	Open	DC	18	18	324	16	35	Draw of Lots	5	4
360	Within 7 KM from intersection of NH-34 & Bhaktisiddhanta Saraswati Marg towards Mayapur		Rural	80	Open	DC	30	30	900	16	35	Draw of Lots	5	4
361	Within 5 Kms from JLD College of Engineering and Management Towards Canning on Baruipur-Canning Road	DUTH 24 PARGAN	Rural	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
362	Between Sirakol - Serpur Road and Serpur Magrahat Road Crossing and Poddopukur Bazar on Sherpur -Magrahat Road	DUTH 24 PARGAN.	Rural	70	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
363	Between Hatisala More to Karigari bhawan on LHS on Newtown Road within South 24 Pgs distt	DUTH 24 PARGAN.	Rural	250	Open	СС	20	20	400	16	6	Bidding	10	4
364	Within 10 Kms From Uluberia NH 16 crossing towards 58 gate on Uluberia - Shyampur Road	HOWRAH	Rural	100	Open CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
365	From Chandipur Bazar to Tentulia	DRTH 24 PARGAN.	Rural	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
366	From Beliaghata Benapur Masjid to Prithiba on Beliaghata -Ichapur- Prithiba Road on either side	DRTH 24 PARGAN	Rural	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
367	From Duttapulia to Ranaghat on Aranghata Panikhali Duttapulia Road	NADIA	Rural	150	Open	DC	30	30	900	16	35	Draw of Lots	5	4
368	From Kharo Bazar to Kamdebkati Bus Stop on Gourbanga Road	DRTH 24 PARGAN	Rural	80	Open	DC	30	30	900	16	35	Draw of Lots	5	4
369	From Bethuadahari JCM High School to Chota Simulia on Bethuadhari Barnia Road	NADIA	Rural	100	OBC	сс	30	30	900	16	6	Bidding	10	3
370	Within 9 Km from intersection of NH 35 And Golabari -Nilganj Road towrads Golabari on Golabari Nilganj Road	DRTH 24 PARGAN	Rural	85	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
371	From Plassey Rail Gate to Panchkhala Bus Stand on Betai Plassey Road	NADIA	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
372	From Kaliganj Bazar to Hatgachha Gram Panchayat on Deboram Kaliganj Raod	NADIA	Rural	120	Open	DC	20	20	400	16	35	Draw of Lots	5	4
373	Between Bhaluka Bus Stand towards Hijuli More on Bhaluka Road	NADIA	Rural	100	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
374	Between Gocharan to Dhosa on Gocharan Dhosa Road	DUTH 24 PARGAN	Rural	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
375	Between Bargachia and Udaynarayanpur on Udaynarayanpur Jagatballpur Road	HOWRAH	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
376	Within 16 Kms. from Ranihati NH 16 Crossing towards Amta on Ranihati Amta Road	HOWRAH	Rural	95	Open	сс	25	25	625	16	6	Bidding	10	4
377	Between NH 16 - Ankurhati Crossing and SH 15-Makardah Crossing on Andul Makardah Road	HOWRAH	Rural	90	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
378	Between Nazirganj Police Station and Sankrail Railway Station On Satyen Bose Road	HOWRAH	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
379	Between Dhulagarh NH 16 crossing and Begri High School on Dhulagarh Domjur Road	HOWRAH	Rural	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
380	Between Champatala and Manikpur Ferry Ghat on Allama Iqbal Road	HOWRAH	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	•	•			•						•	•	•	•

									ı				r	
381	Between Shyampur and Shibgang on Shyampur Shibgang Road	HOWRAH	Rural	80	Open	DC	20	20	400	16	35	Draw of Lots	5	4
382	Between Sukhi More and Santoshpur via Chandanbati	MURSHIDABAD	Rural	75	Open	DC	25	25	625	16	35	Draw of Lots	5	4
383	BETWEEN BINDOL AND BISHNUPUR ON BINDOL-BISHNUPUR ROAD.	UTTAR DINAJPUR	Rural	60	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
384	BETWEEN MEKHLIGANJ COLLEGE AND HELAPAKRI MORE ON MEKHLIGANJ CHANGRABANDHA ROAD (MDR)	COOCH BEHAR	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
385	WITHIN 2 KM OF NAGRAKATA POLICE STATION ON NAGRAKATA MAIN ROAD	JALPAIGURI	Rural	90	Open	СС	25	25	625	16	6	Bidding	10	4
386	BETWEEN GHUGHUMARI JUNCTION AND BHETAGURI BAZAAR ON RANGPUR ROAD	COOCH BEHAR	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
387	FROM BAMANHAT TO SAHEBGANJ CHOWPATY ON (BAMANHAT ROAD) MDR.	COOCH BEHAR	Rural	60	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
388	BETWEEN GANGARAMPUR CLOCK TOWER AND JAHANGIRPUR ON GANGARAMPUR-	DAKSHIN DINAJPUR	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
389	HAMJAPUR ROAD. BETWEEN PATIRAM AND KUMARGANJ ON	DAKSHIN	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
390	RURAL ROAD BETWEEN HALDIBARI MARKET AND	DINAJPUR COOCH BEHAR	Rural	100	Open CC 1	СС	25	25	625	16	6	Bidding	10	4
391	ANGULDEKHA ON RURAL ROAD BETWEEN TAPAN AND BALURGHAT ON CHAKRABHRIGU-DARALHAT TAPAN ROAD	DAKSHIN	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
202	(MDR) WITH IN 5 KM OF MATIKUNDA HIGH	DINAJPUR UTTAR	Dural	40	S.C.	CEC	25	25	425	0	0	Draw of Late	0	2
392	SCHOOL ON PATAGORA ROAD	DINAJPUR	Rural	60	SC	CFS	25	25	625	0	U U	Draw of Lots	U	
393	WITHIN 2 KM FROM BIRPARA CHOWPATY ON MG ROAD VIA BIRPARA GATE.	ALIPURDUAR	Rural	90	Open	СС	25	25	625	16	6	Bidding	10	4
394	BETWEEN JATESHWAR AND ETHELBARI BUS STOP ON JATESHWAR ROAD	ALIPURDUAR	Rural	110	Open	сс	25	25	625	16	6	Bidding	10	4
395	FROM SUSTHANI MORE TO IMMIGRATION OFFICE, MAHADIPUR ON GOUR ROAD	MALDA	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
396	BETWEEN CHECKPOST AND DAKESHWAR MORE ON EASTERN BYPASS ROAD	JALPAIGURI	Rural	60	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
397	BETWEEN GAZOLE AND BAMANGOLA ON BAMANGOLA ROAD	MALDA	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
398	WITHIN 4 KM OF BLOCK DEVELOPMENT OFFICE (BDO) BANARHAT ON MAJOR ROAD	JALPAIGURI	Rural	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
399	FROM BHALUKA BAZAR TO BHALUKA ROAD RAILWAY STATION ON MDR.	MALDA	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
400	FROM BALIADANGA MORE KALIYACHAK TO GOLAPGANJ POLICE STATION ON RURAL ROAD	MALDA	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
401	WITH IN 6 KM FROM BAGORA AIRFORCE STATION ON BAGHGORA ROAD (NOT ON NH)	DARJEELING	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
402	Between Ratanpur Bus Stand and Harhari via Mozammel Ohab Haque Rd - Sagardighi Road	MURSHIDABAD	Rural	60	Open CC 2	DC	25	25	625	16	35	Draw of Lots	5	4
403	BETWEEN UTTAR KHAGRABARI PLAYGROUND AND DIMA MORE ON MAYNAGURI-RAMSAI ROAD	JALPAIGURI	Rural	70	OBC CC 1	DC	25	25	625	16	35	Draw of Lots	5	3
404	FROM BAISHNABNAGAR POLICE STATION TO MONDAI BAZAR VIA KRISHNAPUR ON RURAL ROAD	MALDA	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
405	BETWEEN PUNDIBARI POST-OFFICE AND SONAPUR CHOWPATHY, DAKSHIN CHAKOAKHETI, ON SONAPUR-PUNDIBARI MDR	COOCH BEHAR	Rural	60	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
406	FROM BHALUKA ROAD RAILWAY STATION TO TULSIHATA ON MDR.	MALDA	Rural	70	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
407	FROM CHANCHAL TO KHARBA ON MDR	MALDA	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
408	ROAD. FROM TULSIHATA TO KUSHIDA ON RURAL	MALDA	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
409	ROAD BETWEEN SWARUPGANJ AND SIHIPUR ON	MALDA	Rural	60	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
410	SWARUPGANJ ROAD ON ROAD BETWEEN PUDUNG BUSTI AND	KALIMPONG	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
411	RELLI MUKTI BRIDGE. FROM SOVANAGAR TO PUKHURIA MORE,	MALDA	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
412	NOT ON NH/SH. BETWEEN SAMUKHA AND TALGRAM ON	MALDA	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
412	RURAL ROAD BETWEEN RAMGANJ AND BALRAMPUR VIA	UTTAR	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
414	UDRAIL ON RURAL ROAD. ON ROAD CONNECTING RANGDHAMALI MORE AND AMBARI VIA SHIKARPUR	DINAJPUR JALPAIGURI	Rural	60	SC	CFS	25	25	625	0	0	Draw of Lots Draw of Lots	0	2
415	BETWEEN MALBAZAR CATLEX MORE AND LATAGURI ON LATAGURI-RAJADANGA-	JALPAIGURI	Rural	120	Open	СС	25	25	625	16	6	Bidding	10	4
416	MALBAZAR ROAD FROM CHAKULIA HIGH SCHOOL TO GANDAL FREE PRIMARY SCHOOL ON	UTTAR	Rural	60	Open CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
417	CHAKULIA - GANDAL ROAD DUDHIA TO DEPOT GURUDWARA VIA	DINAJPUR	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
L	PANIGHATA, NOT ON SH												-	

OFFICE AND LATAGURI POST OFFICE	JALPAIGURI	Rural	60	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
PATIRAJPUR POLICE CAMP ON	UTTAR DINAJPUR	Rural	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
ON VILLAGE ROAD VIA NAYAR HAT	COOCH BEHAR	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
PANIGHATA ON BAGDOGRA- PANIGHATA	DARJEELING	Rural	60	OBC	сс	25	25	625	16	6	Bidding	10	3
BETWEEN RAMTHENGA AND HINDUSTAN MORE VIA ATPUKHARI ON FALAKATA	COOCH BEHAR	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
TUNGIDIGHI TO KALITOLA ON RURAL	UTTAR DINAJPUR	Rural	60	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
	JALPAIGURI	Rural	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	DARJEELING	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	JALPAIGURI	Rural	120	Open	СС	25	25	625	16	6	Bidding	10	4
FROM DURGAPUR TO KUNOR MORE ON DURGAPUR-KUNORHAT ROAD (MDR)	UTTAR DINAJPUR	Rural	60	ST PH	CFS	25	25	625	0	0	Draw of Lots	0	2
	BIRBHUM	Rural	70	OBC PH	DC	25	25	625	16	35	Draw of Lots	5	3
FROM MOHIT NAGAR FLYOVER TO	JALPAIGURI	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
WITHIN 5 KM FROM ODLABARI MORE ON	JALPAIGURI	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
ROHINI ROCK VIEW POINT TO ROHINI TEA GARDEN PLAYGROUND ON MATIGARA-	DARJEELING	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
FROM JAMALDAH TO RANIRHAT ON VILLAGE ROAD VIA UCHAL PUKHARI	COOCH BEHAR	Rural	60	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
	JALPAIGURI	Rural	90	Open	сс	25	25	625	16	6	Bidding	10	4
PATIRAM TO MATIGARA POLICE STATION	DARJEELING	Rural	100	Open	СС	25	25	625	16	6	Bidding	10	4
Between Palsanda Bus Stand and Lalbagh	MURSHIDABAD	Rural	70	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
Between Amtala and Patikabari on	MURSHIDABAD	Rural	70	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
MATIGARA BLOCK OFFICE TO NEW	DARJEELING	Rural	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
Between Laghata and Gunutia Bridge on Labhpur-Gunutia Road	BIRBHUM	Rural	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	BIRBHUM	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
Between Chandipur and Chandore via	MURSHIDABAD	Rural	60	OBC	СС	25	25	625	16	6	Bidding	10	3
Between Amtala and Choa on	MURSHIDABAD	Rural	70	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
FROM RAMPUR CHOWK TO GOAGAON	UTTAR DINAJPUR	Rural	60	Open CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
	MURSHIDABAD	Rural	60	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
Within 4 Kms from Sian Bus Stop towards Nanoor on Nanoor-Chandidas Road	BIRBHUM	Rural	70	Open	СС	25	25	625	16	6	Bidding	10	4
Between Raghunathganj and Harirampur on Ailerpur-Sagardighi Road	MURSHIDABAD	Rural	70	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
Between Bahadurpur and Rampur on Bahadurpur Road	BIRBHUM	Rural	70	Open	сс	25	25	625	16	6	Bidding	10	4
Between Raninagar and Shaikhpara on	MURSHIDABAD	Rural	70	OBC	СС	25	25	625	16	6	Bidding	10	3
Between Juginda and Jitpur on Domkal-	MURSHIDABAD	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
Between Bhagwangola PS and Akhriganj	MURSHIDABAD	Rural	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
Between Sherpur and Gantla on Gantla	MURSHIDABAD	Rural	70	SC CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2
Between Rejinagar Rail Gate and	MURSHIDABAD	Rural	60	OBC CC 1	DC	25	25	625	16	35	Draw of Lots	5	3
Between Kasbagoas and Raninagar on	MURSHIDABAD	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
Phulpahari on Raipur Harinsingha Road	BIRBHUM	Rural	60	Open PH	DC	25	25	625	16	35	Draw of Lots	5	4
-											5 (1)		
Between Gramsalika Dackbangla More and Sadpur P on Dackbangla-Laharpara- Kandi Road	MURSHIDABAD	Rural	70	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
	ROAD TUNGIDIGHI TO KALITOLA ON RURAL ROAD FROM DOMOHANI MORE (ON NH-27) TO SINGIMARI POST OFFICE ON TEESTA BRIDGE SINGIMARI BYPASS ROAD WITHIN 4 KM FROM BIJANBARI POST OFFICE ON BIJANBARI-DARJEELING ROAD BETWEEN FULBARI MARDAR MORE AND GAJOLDOBA VIEW POINT VIA GAJOLDOBA ROAD FROM DURGAPUR TO KUNOR MORE ON DURGAPUR-KUNORHAT ROAD (MDR) WITHIN 5 KM FROM KULERA TOWARD FROM MOHT NAGAR FLYOVER TO CHECKPOST BUS STAND VIA TEYYATUR ROAD (NOT ON NH) WITHIN 5 KM FROM ODLABARI MORE ON ODLABARI-KRANTI (MDR) ROAD. ROHINI ROCK VIEW POINT TO ROHINI TEA GARDEN PLAYGROUND ON MATIGARA- KURSEONG ROAD FROM JAMALDAH TO RANIRHAT ON VILLAGE ROAD VIA UCHAL PUKHARI ON HATI MORE TO AMBARI FALAKATA MOR ROAD PATIRAM TO MATIGARA POLICE STATION ON NATUN PARA ROAD. Between Palsanda Bus Stand and Lalbagh COURT ROAD BETWEEN AND MATIGARA POLICE STATION ON NATUN PARA ROAD. Between Palsanda Bus Stand and Lalbagh COURT ROAD BETWEEN AND MATIGARA POLICE STATION ON NATUN PARA ROAD. BETWEEN PAISAND WAS BETWEEN AND AND AND AND AND AND AND AND AND AN	OFFICE AND LATAGURI POST OFFICE PARA ON LATAGURI POST OFFICE PARA ON LATAGURI-KRANTI MDR BETWEEN ITAHAR POLICE STATION AND PATIRAJPUR ROAD (NOT ON NH) BETWEEN KACHA MORE AND KALAGAON ON VILLAGE ROAD VIA NAYAR HAT BAZAAR SATBHIAYA CHECKPOST TO KADMA MORE, PANIGHATA ON BAGDOGRA- PANIGHATA ROAD BETWEEN RAMTHENGA AND HINDUSTAN MORE VIA ATPUKHARI ON FALAKATA ROAD BETWEEN RAMTHENGA AND HINDUSTAN MORE VIA ATPUKHARI ON FALAKATA ROAD FROM DOMOHANI MORE (ON NH-27) TO SINGIMARI POST OFFICE ON TEESTA BRIDGE SINGIMARI BYPASS ROAD WITHIN 4 KM FROM BIJANBARI POST OFFICE ON BIJANBARI-DATJEELING ROAD BETWEEN FULBARI MARDAR MORE AND GAJOLDOBA VIEW POINT VIA GAJOLDOBA ROAD WITHIN S KM FROM BURDAR MORE ON DURGAPUR TO KUNOR MORE ON DURGAPUR SIGNIHARI ROAD FROM DURGAPUR TO KUNOR MORE ON DURGAPUR SIGNIHARI ROAD FROM DURGAPUR TO KUNOR MORE ON DURGAPUR SIGNIHARI ROAD FROM DOHIT NAGAR FLYOVER TO CHECKPOST BUS STAND VIA TEYYATUR ROAD (NOT ON NH) WITHIN 5 KM FROM ODLABARI MORE ON DUABABRI-KRANTI (MDR) ROAD ROHINI ROCK VIEW POINT TO ROHINI TEA GARDEN PLAYGROUNDO N MATIGARA- KURSEONG ROAD FROM JAMALDAH TO RANIRHAT ON VILLAGE ROAD VIA UCHAL PUKHARI ON HATI MORE TO AMBARI FALAKATA MOR ROAD PATIRAM TO MATIGARA POLICE STATION ON HATUN PARA ROAD. Between Palsanda Bus Stand and Lalbagh ANTIGARA BLOCK OFFICE TO NEW RANGIA VIA KHARAGSHING PWD ROAD BETWEEN PLAYGROUND ON MATIGARA- MOR ROAD PATIRAM TO MATIGARA POLICE STATION ON NATUN PARA ROAD. Between Panchra More and Khoyrasole PS ON PANCHA-KHOYASOLE ROAD BETWEEN PLAYGROUND ON MATIGARA MATIGARA BLOCK OFFICE TO NEW RANGIA VIA KHARAGSHING PWD ROAD BETWEEN PLAYGROUND ON MATIGARA MATIGARA BLOCK OFFICE TO NEW RANGIA VIA KHARAGSHING PWD ROAD BETWEEN PLAYGROUND ON MATIGARA BETWEEN PLAYGROUND ON MATIGABAD BETWEEN PLAYGROUND ON MATIGA	OFFICE AND LATAGURI POST OFFICE PARA ON LATAGURI-KRANTI MDR BETWEEN ITAHAR POLICE STATION AND PATIRAJPUR POLICE CAMP ON PATIRAJPUR POLICE CAMP ON PATIRAJPUR ROAD (NOT ON NI) BETWEEN KALM MORE AND KALAGAON ON WILLAGE ROAD VIA NAYAR HAT BAZAAR SATBHIAYA CHECKPOST TO KADMA MORE, PANIGHATA ON BAGDOGRA- PANIGHATA ROAD BETWEEN RAMTHENGA AND HINDUSTAN RORE VIA ATPUKHARI ON FALAKATA ROAD TUNGIDIGHI TO KALITOLA ON RURAL ROAD TUNGIDIGHI TO KALITOLA ON RURAL ROAD WITHIN 4 KM FROM BIJANBARI POST OFFICE ON BIJANBARI POST OFFICE	OFFICE AND LATAGURI POST OFFICE PARA ON LATAGURI POST OFFICE PARA ON LATAGURI POST OFFICE PARA ON LATAGURI POST OFFICE PARTICAJPUR POLICE STATION AND PATIRAJPUR POLICE STATION AND PATIRAJPUR POLICE CAMP ON PATIRAJPUR POLICE STATION AND PATIRAJPUR POLICE STATION AND PATIRAJPUR POLICE STATION AND PATIRAJPUR POLICE STATION AND BETWEEN KACHA MORE AND KALAGAON ON VILLAGE ROAD VIA NAYAR HAT BAZAAR SASTBHIMYA CHECKEROST TO KADMA MORE, PANICHATA ON BAGOGGRA PANNGHATA ROAD PANICHATA ON BAGOGGRA PANNGHATA ROAD PANICHATA TO RAJAKATA ROAD TUNGIDIGHI TO KALITOLIA ON RURAL ROAD TUNGIDIGHI TO KALITOLIA ON RURAL ROAD TUNGIDIGHI TO KALITOLIA ON RURAL ROAD PROM DOMOHANI MORE (ON NH-27) TO SINGIMARI POST OFFICE ON TEESTA ROAD WITHIN A KM FROM BIJANBARI POST OFFICE ON BIJANBARI PO	OFFICE AND LATACURIP POST OFFICE PARARO NI LATACURIP POST OFFI PARABORATA ON BACDOGRAP PANIGHATA DALAM BACAMA BACAMAA BACAMA BACAMA BACAMA BACAMA BACAMA BACAMA BACAMA BACAMA BACAMAA BACAM	APPAGURD ALPAGURD ALPAGURD Rural 60 5C CFS	GFIFICE AND ATAGUIR POST OFFICE ADMANGURE Rural 60 SC CFS 25	SPITECE AND LATACURUR POST OFFICE JASPAGURE Rural 60 SC CF5 25 25 25 25 25 25 25	### STATES NATIONAL PROTOFICE AND PROTOFICE	Part	Prince Del Confession For	Service Process Proc	FITTER SOLD AND SOLD STORTED (ALTERNATION AND COLLEGATION AND

456	Within 5 km from Salar Police Station towards Katwa on Salar-Katwa Road(within Murshidabad Dist)	MURSHIDABAD	Rural	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
457	Between Ajgarapara and Bahutali high school on Sidhori-Ajgarpara Road.	MURSHIDABAD	Rural	70	OBC	сс	25	25	625	16	6	Bidding	10	3
458	Between Shalbdhara and Thakurpara	BIRBHUM	Rural	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
459	Between Salinda and Kagram on Kandi- Katwa road	MURSHIDABAD	Rural	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
460	Between Gudhia and Harirampur Ferry ghat via Tentulia gram Panchayet	MURSHIDABAD	Rural	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
461	Within 4 Kms from Rajgram Bus Stop towards Ajgarpara (within Birbhum District)	BIRBHUM	Rural	110	Open	СС	25	25	625	16	6	Bidding	10	4
462	Between Bhawanipur and Rajarampur on Rajarampur Road	MURSHIDABAD	Rural	70	OBC	сс	25	25	625	16	6	Bidding	10	3
463	Between Ramnagar and Khagraghat on Ramnagar- Bazarshaw - Chowrigacha- Khagraghat Road	MURSHIDABAD	Rural	70	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
464	Within 8 Kms from Muluk Bus Stop towards Kule on Bolpur Palitpur Road	BIRBHUM	Rural	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
465	Between Kotasur High School and Satpalsa on Ramnagar Road	BIRBHUM	Rural	70	Open CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
466	Between Bondanga and Labpur Rice Mill on Labpur-Bolpur Road	BIRBHUM	Rural	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
467	WITHIN 2 KM OF LOOKSAN BAZAAR ON PWD ROAD (NOT ON NH)	JALPAIGURI	Rural	60	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
468	Between Murarai and Mitrapur on Murarai Raghunathganj Road	BIRBHUM	Rural	90	Open	сс	25	25	625	16	6	Bidding	10	4
469	Between Umarpur Chowk and Sahebnagar (within Murshidabad dist) on Raghunathganj Murarai Road	MURSHIDABAD	Rural	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
470	Between Bolpur and Illambazar on Bolpur- kabi Joydeb Road.	BIRBHUM	Rural	70	Open	СС	25	25	625	16	6	Bidding	10	4

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.hindustanpetroleum.com / w

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 17/10/2023.

Type of RO	Type of Site	Category	Applica tion fee in Rs.	Type of RO	Typ e of Site	Categor y	Applicatio n fee in <u>Rs</u> .
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of $\underline{10}$ years and renewable every $\underline{10}$ years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may

Address / Contact Nos	For Districts
HPCL, Kolkata Retail Regional Office, 6 Church Lane, 2nd floor, Kolkata- 700001. Contact No 033 22542128, 9433151049	HOWRAH, KOLKATA, NADIA, NORTH & SOUTH 24 PARGANAS
HPCL, Durgapur Retail Regional Office, NH2- Rajbandh Chatti, Rajbandh, Durgapur - 713212. Contact no 9883422710, 9546929578	BANKURA, HOOGHLY, JHARGRAM, PURULIA, PURBA & PASCHIM BARDHAMAN AND PURBA & PASCHIM MIDNAPUR
HPCL, Siliguri Retail Regional Office, 2nd Floor-Homeland Building, 3rd Mile, Sevoke Road, Siliguri- 734008. Contact no 0353-2950309,0353-3553752.	ALIPURDUAR, BIRBHUM, COOCH BEHAR, DARJEELING, JALPAIGURI, MALDA, MURSHIDABAD, KALIMPONG, DAKSHIN & UTTAR DINAJPUR